





Va++b=17

| va + vb = 17

----- (my solution) -----

| va + vb = 17

a-b=17 =>a=>b + 17

if a = b + 17 then va + vb = 17 becomes:

V(b + 17) + vb = 17

(V(b + 17) + vb)2 = 172

b+ 17 + 2-v(b + 17):vb + b = 172
2b + 2-V(b + 17).vb = 172 - 17

2:.J(b + 17)-vb = 272 - 2b

a-b=17

----- (YT soluti

| va + vb = 17
i a -b=17

a-b=17 = (
(Va + vb)(va -
17-(va - vb) =
va - vb =1

| L1: va + vb
I L2: va - vb

L1 + L2: Va +

va)2 - (vb)2 = 17
vb) = 17

17

17

1

va + vb - vb = 17 +1

(2-v(b + 17)-vb)2 = (272 - 2b)? 2Va = 18
4.-(b + 17)-b = 2722 - 1088b + 4b? va = 9
2 = 2 _ 8h 4+ 4p2 0 ..

| a =81 |

4b2? + 68b + 1088b - 4b2 = 2722 emmmmm—--.

1156b = 2722 81 - 17 = b

b = 2722/115%¢ emmemm——-
| b = 64 |

| b =64 |

a - 64 =17

a =64 + 17



